	                                                                                                                                                       SZKIC INWENTARYZACJI

                                                                                        ..................................

	Obiekt:


	L.ks.rob.
	Szkic Nr


	

	
	KERG
	
	

	LOKALIZACJA OBIEKTU BUDOWLANEGO

POD WZGLĘDEM SYTUACYJNYM

JEST ZGODNA – NIEZGODNA

Z PROJEKTEM Z.U.D.P. NR. ...................

Łódź dn. ...................   stwierdził ...................
	Skartował:
	

	
	
	Godło:
	
	Godło:
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Pomierzył:


	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	Godło:
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